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Topic:- Physics

1) Inside the swimming pool we feel lighter because the WK1tk gd ® 3 gq Wy
I gl HEgH Hd ¢ FIfP

1. apparent weight is less than the actual weight due to buoyant force / 3&Td §d & HRUT STHT

YR, IRdfde YR A HH gl g
2. apparent weight is more than the actual weight / ST YRR, IRAfd® YR T 3ifee giar %I
3. upward force acting on the body is more / TR R HTRG 3 9 31w @T‘ﬂ %I
4. density of water is more / OTH1 &1 97cd 3 Eﬁ?ﬂ %I

Correct Answer :-

e apparent weight is less than the actual weight due to buoyant force / 3&Td §d & HRUT STHRT

YR, gIdfdd HR A pHBIAT |

2) What happens when a sound wave travels through a medium? / T ﬁ?ﬂ % old Uh e a3 Udh
Ty H THA HRdl 82

1. Particles of the medium are transferred from one place to another at variable speed. / g & hU[, TR

A 9 T RIM ¥ g R/HE # ARG 81d gl
2. No energy transfer takes place. /ﬁs‘ Sl RIMFTAROT ﬁ@?ﬂ %I
3. Energy is transferred from one place to another. / Sl Th {YH T 3 QM R AR Eﬁ?ﬁ %I

4. Particles of the medium are transferred from one end to the other at a constant speed. / HI®IH & CUR

FRER 710 ¥ T BRI G BR 0% WHIARd 8id g |

Correct Answer :-

e Energy is transferred from one place to another. / Sl Uh M 3 - tl?@-ﬂzﬂﬁﬁﬁ@_cﬁ%l

3) If the refracting angle of a prism is equal to the angle of minimum deviation, the refractive index

of the material of the prism is /Tﬂ%@ﬁmﬁ arqa?f'rrﬁ'ur, “gAdH ICESEEaLED
e, A s gl o1 ouadwie . R

1.51

2.7 2



! ! .
3. lies between ¥ 2 and2/*"2@2$qw&|ﬁ%

I I .
4, lies between Y2 and 1/ Y2 Td 1 %H%ﬂ@ﬁ%
Correct Answer :-

f f .
o lies between ¥2 andz/‘“zt{azémw@a%

4) The escape velocity of a body of mass 2 kg from earth is 11.2km/s. What will the escape velocity

ofabodyofmasslkg?/q?ﬂﬁzmmﬁ%mmwaﬂ, 11.2%/@%1 1
PRI S| 3t 9] BT AT 97 |1 g2

1. 22.4 km/s / 22.4 foHt&A
2.5.5km/s / 5.5 fpdt/A
3. 11.2km/s / 11.2 oA

4.2.25 km/s / 2.25 T/

Correct Answer :-

e 11.2km/s / 11.2 A

5) An electric field is applied to a semiconductor. Let the number of charge carriers be ‘n’ and the
average drift speed be ‘v’. If temperature is increased, then WAL W%ﬁlﬁ,
s fagaq &= @] fear sirar 81 A e fp aree Sima=t «n” 9UT 3N 3ruars fd «v B
gfe aTuHT ggdt &, |

1. both n and v will decrease / n Qa \% ?ﬂ‘—ﬁ DH Eﬁﬁ
2. both n and v will increase /nTd v G| de GllQ':i
3. n will increase but v will decrease / n §g ST i v HH E:;lll

4. n will decrease but v will increase / n H 8 T A v de Sl

Correct Answer :-
» n will increase but v will decrease / n de SITUT i v HH él‘l

6) The sun can be seen about 2 minutes before the actual sunrise and after the actual sunset

because of ./ GRS & PRI AATIP GATed A Ugd 3R qIdfdd gaied &
q1¢ YT 2 e 9 fe a@ar 21

1. Dispersion / gieagur
2. Scattering / PEALE]
3. Atmospheric refraction / ARIHSHUIT g

4. Tyndall effect / fCUSE yyTa



Correct Answer :-

« Atmospheric refraction / ATHS g

7) A weight lifter holds a weight of 80 kg on his shoulders for 2 minutes. What will be the work done by
him? / T HRITIA® 3= Helf TR 80 FoHIm &1 U aor, 2 firde & g Taar 81 39% gri fwan
TR ST T e

1. 800J
2.8
3.0J

4.801J

Correct Answer :-

8) The resistance of a carbon resistor is 4.7 x 10°Q t 20%. The sequence of colours on strips

on the resistor is . | BT 3aRIUD BT UfARIY, 4.7 x 10%Q + 20% 2| AARIUD
P ufgdi u= 3 BT 94, B

1. yellow, violet, yellow, gold / dta, &7, diell, gext

2. yellow, violet, red / tﬂ?ﬂ, a""l:ﬁ, ol
3. yellow, violet, orange, gold / 1ZﬁT’IT, aﬁ, B ?"il, gl
4. yellow, violet, orange / 1:ﬂT’IT, a.TF'ﬁ, SIRU

Correct Answer :-

« yellow, violet, orange /Q"]F]‘[, a.TI:ﬁ, SIRU

9) If the frequency of light in a photoelectric effect experiment is doubled, the stopping potential

will ./ afe U UhTI-fagae UHTa YT & UHT=T 1 Mgy gorit g1 irelt &, <t
R faua |

1. remain the same / HHIH ?%‘ [

2. be doubled / QT 81 ST
3. be less than double /@Tﬁ J 5 EﬁTlT
4. be more than double / _g';TIef T 3ffers EﬁTIT

Correct Answer :-

» be more than double /_g'{rlefﬁ 3{f g



10) Curie temperature is the temperature at which . m 19 98 a19 g fora
W I

1. diamagnetic substance becomes ferromagnetic substance / Qﬁﬂ@ﬁ’q Wﬁm Uy &9 9Td
2. ferromagnetic substance becomes paramagnetic substance / ?ﬁ@aﬁu et &%@Tﬁﬂ ey §9 STTd
3. magnetic monopoles are formed / WW%@' CERCIG %’

4. diamagnetic material becomes super conductor / uﬁ%ﬁﬁnwﬁ, SffaaTa® &9 SId %

Correct Answer :-

« ferromagnetic substance becomes paramagnetic substance / TEGE® T TGTY SFTEHIT Tard &+ S

11) Newton’s First law of motion is also called as /g &I} wfearfea Tfa & yuw
fraw =t S8d 3

1. Law of inertia / ST8cd &1 f1aH
2. Universal Law of gravitation /WW &1 qrdifires e
3. Law of conservation of energy / Sl & TREUT BT e

4. Law of conservation of momentum / Ja o TR0 &1 A9

Correct Answer :-

« Law of inertia / ST&d &1 1w

12) In order to obtain the image of a distant object by a concave mirror, we should hold the screen

at the ./ add SUUT GIRT gRRY I BT Ufafata e o3 & foe, g6 wpie &t
TR @ o= =l

1. focal plane / By ad
2. aperture plane / gIRP ddl

3. curvature plane / débdl ddl

4. none of the above / GCI'EIEH | aﬁ's‘ e

Correct Answer :-

« focal plane /%Y dd

13) A coil of 4 turns and radius 1cm carries a current of 1A. It is placed in a solenoid of length
40cm, 500 turns and carrying a current of 3A. The torque required to hold the coil with its axis at

right angles to that of the solenoid in the middle is ./ 4 W@ 1 A Brear aret Udh
ﬁ?ﬂ 1A YTRT $T 961 PRd! g ﬁwmﬁtﬂm@soowﬁrmﬁ@ﬁmﬁwm



B 3 A YRT BT 98- DR Yol ol T H A58 & THDIU U THAD] 3 & HSoll Bl b
¥ fog efd (Fasmyul) $t smazasdr 3|

1.6™ x 107 Nm /6™2 x 107 =g T
2.4™2 x 107 Nm /4 ™2 x 107 e Hier
3.6 ™2 x 10710Nm / 6 ™2 x 10710 geq HiR
4.4™2 x 10710 Nm /4 ™2 x 10710 e diex
Correct Answer :-

« 6™ x 107 Nm/6™2 x 107 ged Hier

14) The percentage of radioactive sample which decays in one mean lifetime is ./ TPh

Irsurafepa T o1 U NHd Siiaqera § & & ufazaar 3|
1. 64%
2.50%
3. 36%

4. 25%

Correct Answer :-
o 64%

15) The Space Observatory which is discoverir!g earth-like planets in recent years in other
star systems is named after ./dg SI?I'R’&-I aWI'IFIT, K| m%aq‘fﬁ‘ 3 dIRT
frral # gudt S wEl ) G FR I 8, & M R 2

1. Newton / gcd

2. Halley / §¢it
3. Kepler/w
4. Galileo / Trefiferan

Correct Answer :-

» Kepler/ PR

16) The range of a projectile is maximum when angle of projection is . | T Y& BT R

Sfray gYaT 8, 9T YA ST HUT___ grar gl
1.30°

2.45°



3. 60

4. 90°

Correct Answer :-

17) Which of the following has a higher momentum: a bullet of mass 50 g moving with a velocity of
1200 m/s or a cricket ball of mass 163 g moving with a velocity of 161 km/h? /g o 9§ e gau

3R B: 1200 WA & A7 A fer=iar 50 19 g areh TH A< 3ryar 161 AT Fan A
AT 163 ATH ST el U fohde g2

1. A bullet has a higher momentum than a cricket ball. / b W Cal l:iaTL Uh fhdbe ﬂaaﬁ’rmﬁ
31 BT 5|

2. A cricket ball has a higher momentum than a bullet. / T fohdbe Tig &1 T, ﬁ?}l—d a'ﬁﬂﬂ:ﬂ T aiftrem
gl gl

3. Both the bullet and the cricket ball have the same momentum. / fspope ﬁ_d Td ﬂﬁ? 3 i &1 WW
JHH BT B |

4. Both the bullet and the cricket ball have zero momentum. / fdhde 7ig Td Qa?:' EIHWWQ]EJ@?H
gl

Correct Answer :-

e A bullet has a higher momentum than a cricket ball. / Uch gac Gal '{-ial‘l, Uh fpabe ﬁ?{ﬁ gl i

3w g 8|

18) Velocity of a body cannot be changed by ./ TPh g &1 A &
&1 uiafdd T8l foar o Tl

1. changing the speed of the body / g &1 ard W%f

2. changing the direction of motion of the body / Ao &1 ara &1 fezm Wef

3. changing both the speed and direction of motion of the body / e 3t 1fa Ft 3= oIk 91 IHY Sge
4. changing the shape of the body / & BT TSR JgaH

5. changing the direction of motion of the body / e ot ard 3 E'QT[ Wef

6. ;haaangring both the speed and direction of motion of the body / g &t afa &t %er GhT amaﬁr

7. changing the shape of the body / & BT THR e

Correct Answer :-
» changing both the speed and direction of motion of the body / g ot i 1 3z 3R =1 SF Sga

e changing the shape of the body / & P THR g




19) The region in the center of the retina having maximum concentration of rods and cones is

%alled ./ ATATPTI3AT 3R Rigpa3 P Srftrpaw Figar ara AT & Fg &1 87 Heardl
|

1. gray spot / ﬁ-ﬁ‘g’
2. yellow spot / Uld-fag

3. blind spot / 3{Ufeig

4. red spot / W—ﬁg

Correct Answer :-

« yellow spot / Utd-foig

20) The core of the transformer is laminated to prevent . EI'\‘:I"FI'dT Cdl

EAE) | Tu1d ¥ g vefea @fFmes) g 2
1. flux leakage R CIRRRSSIEC]

2. hysteresis losses / Qe Bl

3. eddy current losses / VaR-YRT IR

4.1> R losses / I* R IR

Correct Answer :-
 eddy current losses / VIR YT g

21) An air bubble in a glass slab of refractive index 1.5 is 5cm deep when viewed from one face and
2cm deep when viewed from the other face. What is its true depth? / 1.5 W%ﬁﬂ%@
U B 591 BT U gagdl TP Bad A 3@ W 5 A} 57 g1 7, SR 3 B & 3@ W 2
et TR BT B 1 SHD! AP TERTS F 82

1. 10.5cm/ 10.5 Tt
2. 10.0cm / 10,0 IH
3.7.0cm / 7.0 THT

4.7.5cm/ 7.5 9H

Correct Answer :-

e 10.5cm/ 10.5 THT

22) What would be the mass of an object whose weight is 98 N? / Tch ¥ DT SAHT HIT 3-11'“,
o1 9o 98 e 72

1. 0.01 kg / 0.01 T3
2.0.1kg /0.1 foam



3.1.0kg / 1.0 fooum

4.10.0 kg / 10.0 foum

Correct Answer :-

« 10.0kg/ 10.0 fum

23) Calculate the amount of work done in moving a charge of 3 coulomb from a point at 112.5V to a
point at 140.5 V? / 112.5V W T fdg A 140.5 v R Tw fdg a9, 3 aAH AN B o 11 | fopd
ST aTa ST @Y AT Biferg?

1. 28]
2.81J
3. 84)

4.9.33]

Correct Answer :-
o 84)

24) A 4V cellis connected to a 2 Q resistance. The number of electrons that would come out of the
negative terminal of the cell in 3 minutes is ./ TP 4V A9, 2 Q U1y A T g3 o
3fire d gAGe, 99 P BUTHD (A% I 96X AT |

1.2.25 x 10*! electrons / 2.25 x 10%! sﬁag”ﬂ
2. 1.25 x 1020 electrons / 1.25 x 102 e

3.1.50 x 10! electrons / 1.50 x 10'° ST

4. 1.15 x 10?9 electrons / 1.15 x 10203ﬁa§‘|’=[
Correct Answer :-

e 2.25 x 102! electrons / 2.25 x 10%! Solae

25) Swimmer Shivani swam in a pool for 200 m butterfly stroke event. She covered 200 m with a time of
2 minutes by swimming from one end to the other and again back along the same path. Find the average

speedoftheswimmer./mmﬁ'@mommwmﬁwwﬁmﬁl
39 2 firde ¥ T Bk I g B a@ 200 1 $t gt aa o, 53 g S vy & qruw @dt
RTE BT 3T T J19 B}

1.50m/s /50 ﬁ[/\ef
2.3.33m/s/3.33 HI/A
3.1.67m/s/ 1.67 H/&A

4.0.167 m/s / 0.167 H/A



Correct Answer :-

e 1.67m/s/1.67HA

26) No work is said to be done when the angle between force and displacement is . ﬁ%

B 81 31T & 99 99 3R fawru= & fi= &1 Hur g

o

1.0

2. 180°
3.90°
4.120°
5.90°

Correct Answer :-

27) If the displacement of an object is directly proportional to time taken, then it is moving with

a/an .1 afe T avg P FaRTu=, foe T 99a & SreuTqurd! €, <Y 98 TP
¥ 99 351 &

1. acceleration / «dRU[
2. variable acceleration / UG @R 0T
3. uniform velocity / ThJHIT T

4, uniform acceleration / ThJHTT d0T

Correct Answer ;-
« uniform velocity / T HHH aT

28) If we double the radius of current carrying coil keeping the current unchanged, what happens
to the magnetic field at centre? / YIRT @I 3uf¥afdd I@®HR, afe W URT Yarfed Heal & HBrear
B ST DR ¢, O B H UMY GO &F W T YU TS?

1. Become four times /%rrw:na‘r ST

2. Doubled / EiF!HI
3. Remains unchanged / 3gfafdd g

4. Halved / 3(TST BT SITQ

Correct Answer :-

. Halved/\’rlT‘EﬂEﬁ ST



29) Modulation is the process of superposing ./ HTW G|

SR B3 Y ufspar 21

1. low frequency audio signal on high frequency radio waves / 3™ &nql%r“\f%?ﬂ T R g &ﬂ'q'ﬁ—I
3fifsar Hebd

2. low frequency radio signal on high frequency audio waves / 3= @ﬂqﬁf fifear ¥ R g G'I'IQ'R'T
e dovd

3. high frequency radio signal on low frequency audio waves /g \’rﬂqﬁ[ TS T R I Gﬂqﬁi
A& Havd

4. high frequency audio signal on low frequency radio waves gt &nqi%ﬁ%u‘f T R A Gﬂgﬁ[
3 &l Goba

Correct Answer :-

» low frequency audio signal on high frequency radio waves / 3= 3ﬂ§ﬁ‘f T R R Y 3{@%
3TN Tebd

30) A cell of EMF 'E’ and internal resistance ‘r’ is connected to an external resistance
‘R’ and a current ‘I’ flows through it, then the internal resistance of the cell is equal
to / fagaq-ae® 9a “E” TUT JATdR® UfaRIY “r” &1 U Id, TP a1 iRy “R” |
qa%mfrerm“l"um%aﬁcﬁ% at A BT IATARD ufey & WS I
(I- ER)
1.
(E
(E91
I‘-R J]
2.
3 - ¥,
(ER-TI)

Correct Answer :-

31) A wire of resistance 4R is bent in the form of a circle. The effective resistance between its any

two diametrically opposite ends is ./ UfaRYe 4R aTET U dIR, Uh gl FEIY 'FﬁGT ™T %I
9& it & aaTa: IvgE Rt & &9 gurdt foRiy gl

1. 4R

2. 2R

3.R



4. 1R

Correct Answer :-

« R
32) The absolute temperature of a gas is made four times. The Kinetic energy becomes .
TS 1 &1 QU aT9HT, IR A1 2 fear man g1 nfas et gl STt |

1. two times / &l AT
2. eight time / 3T& AT
3. four times / AR [T

4. sixteen times / TG RIGII

Correct Answer :-

e four times / AT

33) What is the nature of the image formed by a concave mirror having magnification of — 0.75? /

0.75 3ATae & 3rade gUvr gRT 9+ ufafars &t ypfa T 82

1. Virtual and erect / STHTET Gﬁfm‘iﬂ

2. Real and inverted / dl%df&dp GhT Jecl
3. Real and erect / IRATAH GﬁT iem
4. Virtual and inverted / STHTET GﬁT 3l

Correct Answer :-

e Real and inverted / OIN(‘IBIOP GﬁT 3ol

34) For a series LCR circuit at resonance, which one is not applicable: / 3-Tg X Eﬁ'@ﬁ&lﬂ'

uftuy arelt 4oft & forg, FAafifea & @ o= Suge 781 @:

1. Current and voltage are in phase / YIRT 3R Eﬁ@Tﬂ, ey | 8id %I
2. Current is maximum / ¥RT 3AfIHaH gt |

3. Impedance is maximum / gfaarer ifedad gidt %I

4. Impedance is minimum / UfcIaTeT YIdH B B

Correct Answer :-

o Impedance is maximum / gfaarer ifeedad gidt %I



Of the following groups, the one containing only conductors is AT '\‘I'Elff

# @, 98 forad o a1 ¢, gl

1. copper, silver, mercury/ﬁcﬁ, ai"c?r, URq

2. graphite, carbon, ebonite / ‘:thOIQC, ¢I§d, Qd\l'ﬂ‘sc
3. milk, honey, distilled water / Q¥, RIeq, 3T ol
4. lemon juice, caustic soda, sugar solution Fﬂ'qw, aledh ?ﬁ?:T, It faem

Correct Answer :-

 copper, silver, mercury / OI‘)\IJLR, aiél, Uik

36) The input and output of a transformer are 240 V and 48 V. Find the output current if the input

current is 0.8 A? / U ST-AWTHR & ST 3R forfa 240 v 3iiR 48 v &1 Forfa et fArerfem afey
3T YIRT 0.8 A B?

1.2A
2.4A
3.6 A
4.8 A

Correct Answer :-

e 4A

37) What is the SI unit of electric field intensity? / ﬁ?ﬂﬁ &h GIEGLEIR)| Eﬂﬂg Cul) %?
1. N/m? / geA/HieR?

2. N/C / YCi/p i

3. NC/m?/ =g fofwal/Hiex?

4. Nm%/C / g¢-1 B/ G ot

Correct Answer :-

e N/C/Yc/haad
38) The work done on an object does not depend upon ./ fo<ht qd WX forar man
Cap| W R =8t Hrar 31

1. Displacement / fa®ITaq
2. force applied / ] dcf
3. angle between force and displacement / ¥ Ud foroe & g 1 B



4. initial velocity of the body / &I &1 URIY® dT

Correct Answer :-

« initial velocity of the body / feTd &1 URfY®H a7

39) The excess pressure inside a spherical drop is 21 units. If 27 such small drops combine, the
excess pressure inside the big drop will be . TD Tﬁwqa ¥ War sifafkea Qi
21 3515 81 afe W 27 §¢ I o, A 531 §g F iR sifalaa g BT

1.3 units/3$$|—$t
2. 7units/73$|—$c
3. 9 units / 9 SHTS
4. 21 units / 21 SHTR

Correct Answer :-

. 7units/7$$|_sc

40) A disc of metal is melted and made in to a solid sphere. The moment of inertia about a vertical

axis passing through the center will ./ TP 'iﬂﬂaﬁ few 1 frgerar mar ik waﬁ
e 911 foam a1 | % A T TRl §5 W e IR TS mgof |

1. increase / aa,lll
2. decrease / 'Elé‘”
3. remain the same / JHH ?%‘ [

4. can increase or decrease depending on the material / o R AR de YT Yc Jahdl g

Correct Answer :-

e decrease / Elé:'ll

41) Two lenses of power +2D and —5 D are placed in contact with each other. An object is placed at
a distance of 50 cm from this combination. What will be position of the image? / +2D 3T 5D &HAT
¥ 3 A, TP g & WTH F @ T | U a7g, T HASH @ 50 0 Y g8 R 7
gfaferrs =t fRufa @ gt

1.10 cm/ 10 Tt
2.20 cm / 20 THt
3.7.5¢cm/ 7.5 A

4.6.0 cm/ 6.0 9H

Correct Answer :-

e 20 cm/ 20 JHT



42) The sum of two point charges is 7uC. They repel each other with a force of 1 N when kept 30
cm apart in vacuum. The charges are . /a ﬁ’g" 3ma=n &1 I 7uC %I 3% oid Uh
frata & te v 9 30 forlt gR a1 T, O 9 TP gk B 1 e & 99§ Ufasiia ovd 81
A gl

1. 6uC and 1pC / 6pC TG 1uC
2. 2uC and 5uC / 2uC T 5uC
3. 4uC and 3uC / 4pC T 3uC

4. 3.5uC and 3.5uC / 3.5uC €d 3.5uC

Correct Answer :-

e 2uC and 5uC / 2uC T 5uC

43) Two sound waves of same amplitude ‘A’ and same wavelength travelling in the same direction
reach a point with a phase difference of 180°. The resultant amplitude of the wave at that point will

be ./ AT F§ & ra R I8 A AT <A’ R FHE a¥ied $1 & wf adl,
180°% FeTaX & U fag W Ugad! 31 39 fig W a3 &1 ufvomet smarw Gull

1. 2A
2. A

3. Zero / [

4. A2

Correct Answer :-

44) What percentage of solar energy that reaches the atmosphere is absorbed by the earth’s

surface?/Wﬁﬁﬁﬂﬁwmmquaﬁmmmm

?
1. 20%
2.35%
3. 47%

4. 60%

Correct Answer :-
o 47%

45) A bullet with a speed of 200 m/s can just pierce a wooden block of 25 cm thick. The speed
of the bullet just to pierce another wooden block of same material having thickness 16 cm is



. / 200 Tt/ &} 91 A TH gaie, 25 A Ui AP S & che B Y bt g1 16 A
HIeTs & JUH A & TF 3 APl & ghs Bl bad du- & I gae ot 9 gl

1. 100 m/s / 100 HI/A

2. 160 m/s / 160 HI/A
3. 150 m/s / 150 HI/™A

4. 125m/s / 125 T/

Correct Answer :-

e 160 m/s / 160 H/A

46) The minimum angle of incidence so that a ray travelling from glass to water does not emerge
out in water is . | T GeAT BT gAdH BT 8, o v fvor ot &g & o
THA $AT g, T8 U | 916 151 -1 urelt g

1.42.7°
2.52.7°
3.62.7°

4, 72.7°

Correct Answer :-

47) A charge g is placed at the centre of a cube, then the flux through each face

./ Ofe U U9 & Hg A TP A “q” IQT AT §, a1 TP BdAd U
u?ﬂ's’@?n =l

p=6—"

Correct Answer :-



48) Determine the number of significant figures in the measurement 4.200 x 10? cm. / 4.200 x 10?

At 719 A w1l s 91 e fuifia s
1.2
2.4
3.1

4.6

Correct Answer :-

49) A ball of mass 0.1 kg hits the floor normally with a velocity of 25 m/s and rebounds with 15m/s.
The magnitude of impulse exerted by the floor on the ballis ./ 0.1 foat &t ﬁ’({, SHIH @1 25
HA F I E AH U H e w8 ok 15 /A F 979w I 71 5 gR1 g R @
T ST BT URHTOT g

1.IN
2.4N
3.2N

4.3N

Correct Answer :-
e 4N

50) If the magnitude of two vectors is 3 and 4 and the magnitude of their scalar product is 6, then

the angle between themis . / afe &t afe= & ufvwmor 3 sik 4 80 aﬁ?memww
1 AT 6 7, A1 IS dHa ST HIUT__I

1. 30°
2.45°
3. 60°

4. 180°

Correct Answer :-

e 60°



Topic:- Chemistry

1) Identify the chemical reaction that is characterized by formation of precipitate. / I

rfferaT ug=nfad, st eraay ¥ fowtor gRT yg=rt s 81

| MgCl+2AgNO; — 2AgCl + Mg(NOs);

2 2NH; —» MN;+ 3H:

3 CHs+ 20, —» CO;+ 2H;0

. Na+2H,0 — 2NaOH+H,

Correct Answer :-

MgCl,+ 2AgNO; —  2AgCl + Mg(NOs);

2)
If the half cell reaction A +¢= —#» A~ has alowreduction potential value, then it follows
that /AT A +e—» A- Y O TG &7 JuTaa Gwg A9 &1 £ O 9%
ganar & &

1. A is readily reduced / A TR ¥ TYHd & ST B
2. Ais readily oxidized / A IREdT ¥ ffeiidyd gl oITdl g

3. A" is readily oxidized / A" IRcldl I &ﬁ%ﬂﬂﬁ RESIGI %‘I

4. N is readily reduced / A" TR § TYEHd gl ol |

Correct Answer :-

« A is readily oxidized / A" TRAT ¥ SfiqiidHd g1 ST Bl

3) Name the radio isotope which is involved in the determination of age of fossils? / Sirar=Hf ot

g Fruffya e § anfire ffwor sawnfe AR srsidn) &2
1. Carbon -14 / STa-14

2. Hydrogen-3 / ETEP@GF[&

3. Oxygen-18 / 3{TRITSM-18

4. Nitrogen-15 /‘TI%@GFT—IS

Correct Answer :-

« Carbon -14 / BTIT-14



4) The difference between baking soda and baking powder is that: / ¥f BT a1 IR AfdT UGS &
CIER LR S

1. Baking soda contains tartaric acid. / afpT TreT # e 3 S\Idl %’I

2. Baking powder contains tartaric acid. / fHTT USSR | eTe R 3 G\Idl %I

3. Baking soda is sodium hydrogen carbonate and baking powder is sodium carbonate. /W%ﬂ?ﬂ,

TIfsay g Fraie § 3R st ureeR, Wifsan w1eHe g1

4. Baking soda is acidic and baking powder is basic in nature. / SfH @@, 3T % 3R ST T3Sy,
Tpfa o e B

Correct Answer :-

e Baking powder contains tartaric acid. / 9fHTT USSR H TR W@Tﬂ%l

5) Choose the weakest Lewis acid from the following trihalides of boron? / TR & =

crsearsel A A oA g q5d o B AT ?

1. Bl;

2. BBry

3. BF;

4. BCl;

5. BF;

6. BCl3

Correct Answer :-
e BCl

 BF;

6) Which of the following molecular formula will correspond to a homologue of CH;CHO? /g Ag

DI AT AOIP A CHyCHO F THSITA S THET GHIT?
1. C,HEO

2. C,H,0,

3. CH,0

4. C3H5O

Correct Answer :-

« CH,0



7) The limiting molar conductivity is the conductivity of an electrolyte when .

Haid aTH SvE ATawdl Uh fIgad-eraaea it arawdl gid @ od [

1. the concentration of the electrolyte is 1M / ﬁgq?f-a{q‘aarm HiGUl, IM Bl
2. the resistance of the solution is very high / IERREED CII?‘I“\;WEIEH 3ffeep gl
3. the concentration of the electrolyte is very high / ﬁgna-s{q"aaf T iUl §gd 3{fd gl

4. the concentration of the electrolyte is nearly zero / T%lgua-&rqaa{ BT HIUT TRTHIT Q;quﬁ

Correct Answer :-

« the concentration of the electrolyte is nearly zero / ﬁgqﬂ-&rcraa{ BT HIZUT TRTHIT QBI%BI

8) Identify which one of the following reactions is endothermic? / ffgdd Cap kil Udh srfferar
SEATRIST 32

1. Sulphur reacting with oxygen to form sulphur dioxide. / Hcthy, SRS o 1Y AFNTHTT B Teh
SR HRITSS T ¢ |

2. Carbon reacts with oxygen to form carbon dioxide. /W, SRS & FTY AFTHAT B BT
SESIERIESERII]

3. Oxygen decomposes to form ozone. / SeRito fagfed S\ION 3N ST %I

4. Nitrogen combines with hydrogen to form ammonia. / '-|I$§\I\rl'~l, 6I$§\I\>1'~I & FIT?IH'EEH @W 3=
CEIGIR]

Correct Answer :-

« Oxygen decomposes to form ozone. / 3o fagfed S\IODQ 3T STl %I

9) A gas tends to expand indefinitely into a vacuum or into another gas. This ability of the gas is

called ./ TP g & fafa A sryar ot o= A9 | srfafia =u d yaifvd g1 &t
wgf gi<t 81 T &1 a5 O FHEardr g

1. viscosity / U

2. compressibility / SEISIGI
3. turbulence / fa&fy

4. diffusion / farRr

Correct Answer :-

« diffusion / TaGROT

10) A typical example of homopolysaccharide is ./ Eal
o fafry Serevur gl




1. inulin / 3feH
2. lignin/ RIEE

3. starch / @
4. insulin / SgfeF

Correct Answer :-

e starch/ E’ﬁf

11) Pentane has the molecular formula CgHy,. It has ./ U1 BT 3Mfoad JA CHy,

g1 81 SR g 7l

1. 8 covalent bonds / 8 mﬁﬁ 3Ty

2. 10 covalent bonds / 10 mﬁﬁ 3{TY
3. 16 covalent bonds / 16 W\Tﬁ 3Ty
4, 14 covalent bonds / 14 Wsﬁ 3y

Correct Answer :-

e 16 covalent bonds / 16 W\Tﬁ 3y

12) Which reaction of xenon compounds is NOT feasible? / SiFT4 et Ft rfuferar s
G TE 82

1. XeFg + 3H50 ---- XeO3 + 6HF

2. 3X€F4 + 6H20““ 2Xe + XeO3 + 12HF + 1502

3. 2XeF, + 2H,0 ------ 2Xe + 4HF + O,

4. XeF¢ + RDF ----- Rb [XeF]

Correct Answer :-

» XeFg +3H,0 ---- XeO3 + 6HF

13) Which of the following does NOT scatter light? / g H | DI YBT Y 1ui qﬁ Ddl %?
1. Sugar solution / T faaaq

2. Milk / Y

3. Soap solution / ITgd faera=

4. Smoke / Y311

Correct Answer :-



 Sugar solution / QehT faea

14) |dentify which metal has the lowest melting point. / Frga¥ e arelt urq @t Uedid H"Tﬁ'll{l
1. Fluorine / TRIRIA

2. Magnesium / AREH

3. Zinc / Sl

4. Sodium / TfSTH

Correct Answer :-

« Sodium / Tifgad

15) The two colours seen at the extreme end of the pH paper are ./ pH TR & TRH 3d R

fadasidamasarg,d__ §l
1. Blue and red /:ﬂ?ﬂﬁa?ﬂﬁ'

2. Red and green / ATd Td &1

3. Orange and red /W@W

4, Green and que/ET[Q_q;:ﬂT*IT

Correct Answer :-

« Blue and red / =Tal Td ol

16) Gold dissolves in 3:1 mixture of HCl and HNO; to produce . /I, Cal

IaTfed ®e1 & ford, HCl 3R HNO3 & 3:1 firgor & freerar 81

1. Hz[AUCIS]

2. H[AUCI,]
3. H2[AUC|6]
4. H[AUCl,]

Correct Answer :-

« H[AUCIy]

17) The most abundant metal on the earth surface is . /q%?ﬁ P! Idg W 994 U HTAT |
S ug___ 3l

1. Mg



2. Fe
3. Na

4. Al

Correct Answer :-
e Al

18) If you have a glass of water measuring 190 ml, how many molecules of water do you think have

been present in it? / Tfe 3MTTH URT 190 Fireht AT a1 =it 71 7019 €, Y 3MTUD AR ITH o
& foraq arup SufRya g

1. 18 ml / 18 forett

2. 6.02 x10%3
3. 19 ml/ 19 THent

4. 6.35 x10%4

Correct Answer :-
. 6.35x10%*

19) An atom with 4 protons and 5 neutrons will have a valency of ./ 4WMEA T 5 ?@’l’ﬂ ara
TP WHTY BT GaISHdl g

1.2
2.1
3.5

4.4

Correct Answer :-

e 2

20) Acetone and water are two miscible liquids. Which one of the following separation techniques is
employed to separate acetone and water from their mixture? / Q'\‘ﬁa_-l T4 od, af fryoftg E%'I
THte U o1 & Yo 9 559U $-1 & fog fFafafed § & foea guaesor ao-ite &1 uaiT
foma <maT 32

1. Separating funnel / qmr\*‘r P
2. Distillation / SHTHd

3. Centrifugation / 3Yb Sl

4. Sublimation / S ATdH



Correct Answer :-

¢ Distillation / 3THd

21) NaCl can be obtained from its solution by evaporation. Choose another technique from the

options given below. /W%WWW@ NaClaﬁWﬁ)—m\_ﬂTW%I :ﬂ%m
T fasedl & 9 3 a1t ST a9 DR |

1. Sublimation / SH&dUTAA
2. Filtration / Fta
3. Distillation / 3THd

4. Sedimentation / AT

Correct Answer :-
e Distillation / ATHd

22) Which reaction is NOT common for both ethanoic acid and hydrochloric acid? Kack:il arf‘mrm,

SUTIS® 3T 3R TS IaalN® 3 il & ford T 181 82
1. Reaction with sodium metal to give out hydrogen. ) gifsaH %I'@% 1y ST R 8 33;|G|'_'| aﬁ%'l
2. Reaction with ethyl alcohol to give an ester. / QIEI(_'I W% 1y HfHfepar B U é?r %I

3. Reaction with sodium hydroxide to give salt and water. / qifsaH WW% 1y HfYfpar s
TG0 3R e 3 Bl

4. Reaction with sodium hydrogen carbonate to give carbon dioxide. / Tifsayq 6I$<§I\SH BT P 1Y

STITFT B BT SEHTRTES 3d ¢

Correct Answer :-

« Reaction with ethyl alcohol to give an ester. / R W% 1y Sfforar #R TR od %I

23) Benzene can directly form benzaldehyde using which one of the following reactions? / LRSIk

= 7 9 frw sififorar o1 SuahT w2 e s<ifcssrss a1 wodT o2
1. Stephen reduction reaction / &Ih WUT gfaferan

2. Gattermann Koch reaction / TTeXHM &1d (e

3. Kolbe’s reaction / iedl ffehar

4. Cannizzaro’s reaction / %ﬁﬁnﬁ Sffrfepar

Correct Answer :-

e Gattermann Koch reaction / TTTCXHT aﬁa &rf‘lrm



24) Brine is an aqueous solution of ./ ddul-sid &1 SToNg faea=

gl

1. calcium hydroxide / BicRTg E’E@G{m
2. barium chloride /WW

3. sodium chloride /mm

4. beryllium chloride / aRferaH Eﬁﬁﬂ%@’

Correct Answer :-

e sodium chloride /mm

25) Enzymes, vitamins and hormones can be classified into a single category of biological chemicals

because all of these /W,ﬁ?ﬁ?ﬁﬁ, ﬁﬁa?wm'—ﬁaﬁmavﬁﬁ
Fiffpa ford o T@d € TP T 9T

1. are exclusively synthesized in the body of a living organism as at present /aT‘ﬁ:I'I:T H U Sifad Sitg &
IRR T 3= =Y ¥ I {6l 91d 5|

2. enhance oxidative metabolism / 3ttt Wﬁg@ﬂﬁ%l
3. are conjugated proteins/m S Eﬁ?f%l
4. help in regulating metabolism /Waﬁﬁﬁ'ﬂﬁlﬁ 3 H AGg B %I

Correct Answer :-

* help in regulating metabolism /Wﬁﬁﬁ'ﬂ'&lﬁ 3 | AGg B %I

26) The existence of three elements Eka-boron, Eka-aluminium and Eka-silicon was predicted by
Mendeleev much before they were discovered. Which were those elements? / f aeal W—EﬁTFI,
w-ugfhi=w iR Ue-fafereTa & sif&ie &1 srgaT Aselw A 3! Wiv | 9gd Ugd o
EIRIEECEIE R R

1. Platinum, Palladium, Iridium /@ﬁ?ﬁ, aﬁ%m:f, Eﬂ%uﬂ
2. Thallium, Thorium, Titanium / aﬁﬂﬂ, ?hﬁ'qtf, as%ﬁ?m

3. Beryllium, Tellurium, Indium /aﬁﬁﬁlﬂ, %?Iloﬁ'm:[, gi%m:r
4. Scandium, Gallium, Germanium /@9—%@, ﬁﬁﬂq, [Cesic el

Correct Answer :-

¢ Scandium, Gallium, Germanium /@9—%'{5@[, ﬁﬁﬂq, [Cesic el

27) Some students took few pieces of iron sulphide solid in a test tube and added few drops of
dilute HCI acid with the help of a dropper. They were able to get a rotten egg smelling
substance. What is that substance? / $& BT, T® RETd A 3 @8 PSS & PO m GRS
3R 3TN TP TR F Feradr A FIFd HCl 3 31 $ §¢ e &1 399 3= U 92 §U 3@ &1
He e qrer Uard UTed gaiml 98 uard T 82



1. FeS

2. FeCl,
3. H, gas / Hzﬁﬂ
4. H,S gas / H,S

Correct Answer :-

e« H,S gas/H,ST

28) Identify the sample with maximum number of atoms. / oY it WGﬁ P @7 ared
YA P ggarH B

1.15g NH3 /15 39 NH3
2.15g H,0/ 15 T H,0
3.15g H,SO4 / 15 UTH H,S04

4.15g MgCO5 / 15 U1 MgCO3

Correct Answer :-
e« 15g NH3 /15 UTH NH3

29) Which one of the following represents the amorphous form of silica? / frafafea o 9 fafaer

1 Siforeediiy U I Yelia Fvar 82
1. Kieselguhr / a’ﬂaﬂ'{{

2. Cristobalite / fh&eTeieiIge

3. Tridymite / ?:l?{%ﬂ'lgf

4. Quartz /m

Correct Answer :-

» Kieselguhr / m

30) Gold numbers of protective colloids A, B, C and D are 0.50, 0.01, 0.10 and 0.005,
respectively. The correct order of their protective powers is: / GI&® ﬁ?ﬂ%@f P auf
T A, B, C 3% D HHET: 0.50, 0.01, 0.10 3 0.005 § | SAP! W&H Rl BT Tl 4 8:

1.B<D<A<C
2.D<A<C<B
3.C<B<D<A

4. A<C<B<D



Correct Answer :-

e A<C<B<D

31) Mass of 4 moles of oxygen atoms is . aﬁa&tﬂmm@ﬁ% 4 9Tl BT S@HT=
g

1.32¢/3270
2.64 g/ 647
3.4g/4U

4.16g/ 16

Correct Answer :-

e 64g/ 64Ul

32) Which one of the following statements is CORRECT? / {59 # | &I T $Y9 T8I 872
1. Schottky defect lowers the density of the crystal. / Rlc®] QIY, fohecd & G- P HH Bl gl

2. Frenkel defect increases the dielectric constant of the crystals. / thad aY foreall & mﬁgqﬁm Cal
EELI

3. Stoichiometric defects make the crystals good conductors. / TIHISRUMHY G, fohved & 3]
AT S 6 |

4. All of the above / B'tr!jaﬁ gaft

5. Stoichiometric defects make the crystals good conductors. / TIHIHRUMH G, fohedl & 3]
BEINCACRIGIE

6. All of the above / Gqéaﬂ ot

Correct Answer :-

» Stoichiometric defects make the crystals good conductors. / OgHIH A Eﬂ'q, forecal &l 3T
B CINCACRIIE

e All of the above / G'CI?I?H gt

33) How many valence electrons are present in NO3 ? / NO3” H fora-t Taree Eﬁﬂfﬁ SURIA
B 82

1.5
2.24
3.6

4.3



Correct Answer :-

. 24

34) Molten AICl; is electrolyzed with a current of 0.5 ampere to produce 27.0 g of Al. Volume of

chlorine at STP is equal to ./ A1® 27.0 T B! SdTfed B & ferd wifera AlCl33ﬁ 0.5
TR YRT & dgad qde foram Smar 81 Tadtd R FaiE 3t A & TR B

1.11.2 litres / 11.2 €t
2. 3.36 litres / 3.36 1l
3.22.4 litres / 22.4 1t

4. 33.6 litres / 33.6 I

Correct Answer :-
« 33.6litres /33.6

35) A researcher received a radioactive isotope having a half life of 3 days, after the lapse of 12
days. By this time only 3 g of the isotope was left in the lead container. What should have been the

initial weight of the isotope stored in the container? / Wﬂﬁm TP ST GHRITS Ured
ol g ot sy 2 el F g S Uy 3 el A1 B s Tma aos A B U o
HHRITAS BT ATF 3 ITH 941 3| U § HUfed GURITS $T IRFUS HIR R ST a1fee?

1.24 g/ 2499
2.48 g/ 48 UTH
3.12¢/ 1291

4.36 g/ 36 U9

Correct Answer :-
o 48 g/ 48 UTH

36) Identify the compound for which Kjeldahl's method of estimation of nitrogen is NOT applicable.

/ 38 TS St ygar &, o 1 ATsgioq & e 3t besta fafd @y 781 gidl 32
1. Nitrobenzene / AT awoN

2. Aniline / U

3. Ethanamine / TQ-TTHTZA

4. Urea / giRAT

Correct Answer :-

 Nitrobenzene / ?@aﬁ?



37) What is the pH of 2 x 102 M solution of Ba(OH ),? / Ba(OH ), & 2 x 102 M fa@a= &7 pH &1

82
1.2.0
2.6.3
3.12.3

4. 12.0

Correct Answer :-

e 123

38) Identify the ionic compound from the following. /g # ¥ smafve aifte tIBT'-lTﬁI'aI

1. PbCl,
2. CCly

3. NH,CONH,
4, C6H12

Correct Answer :-

L4 PbC|2

39) Calculate the number of moles of silver present in a silver strip weighing 54g. (Atomic mass of

silver is 108 g mol™') / 54 UTH ATl TSP i) b1 UET A SUFRIT TG &b ATHIMU[S Y J=AT Bt
TOMHT 3 | (TS BT URATY-HET 108 918 w1 31y

1. 0.25 mol / 0.25 UTHSYJ

2. 0.5 mol / 0.5 UTH3{T]

3. 2 mol / 2 UTH3A]

4. 5 mol / 5 UTHSAJ

Correct Answer :-

e 0.5 mol /0.5 UTH3AJ

40) 2 ml of each of conc. HCI, conc. HNO3 and a mixture of 6 ml of conc. HCI + 2ml of conc.
HNO3 were taken in test tubes A, B, and C, respectively. A small piece of metal was put in each
test tube. Identify the metal that got dissolved in ‘C’ but had no reaction in A and B. / T HCI
T4 Hig HNO3, % 1 2 fireft Td Hig HCl o1 6 frel + Aig HNO3 &7 2 farelt & fargor Y spom:



A, B T4 C W@l § fordm 11| Udie WRE-Telt | YT &1 U il 91 ¢Sl STaT T I8 UTg 'C' |
<t faufea g1 war AfH=1 A Td B # w15 sifforar 181 g5, 39 U ot Ugg™ B

1. Cu
2. Al
3. Au

4. Ag

Correct Answer :-

e Au

41) Which one of the following statements is TRUE of an orbital? / Th D& (Gﬁﬁzﬂ) F IR A

fadd eI FE Id o2

1. Tt has always a negative value because it is occupied by a negatively charged particle. / LUDT HIT

AR HBUMHS BIdT g TP Tg U ATAM HUT gIRT AT BT 8|

2. It has always a positive value because it is occupied by a negatively charged particle. / SIPT HIT

THRN YT Bl ¢ HITh T8 BT SATART HUT gRT AT BIal 3|

3. Orbital which is closer to the nucleus has high energy. / h & (&ﬁﬁf&'ﬂ) S e & FAee gla g
B! Sl I Bl gl

4. In the excited state of an atom, electrons can occupy the higher energy orbitals. / YXHIU] P Iiford
TR T, ZAde I Sl defdb (o) reamid HR IHhd 5|

Correct Answer :-

« In the excited state of an atom, electrons can occupy the higher energy orbitals. / UXHIU] P Iiford
TR H, AT I Soll H&D (feicd) eaid HR Iohd g |

42) Select which one of the following has an atom in +6 oxidation state? / frrfafaa § 3 9@
T B, FoRTH +6 SiTRTtHR0T SrawyT § TP WHTY] BT 87

1. MnO4%

2. [Co ( NH3 )6]**
3.[Cr(CN) >
4. [Ni (CN )41%

Correct Answer :-



Select the correct information conveyed by the following chemical equation. / [EIGIGIEG]
A= GHIEOT & 0T # T80 AGRT ¢ dlel ¥ & 93 S|

MECG3:5| heat Mg@:sl + CG2:5|

1. Itis a displacement reaction. / g Uch fomurge sififosan %I
2. It involves evolution of heat. /sﬂﬁmwﬁw fAfed gian %I
3. 1 mole of MgCO3 produces 44 g of CO,. / MgCO BT Ud UTH U] CO, & 44 TH T fAAT0 &l 5|

4. 100 g of MgCO3 decomposed to give 44 g of CO,. / MgCO5 T 100 UTH, CO, T 44 UTH ek fom

faafea gar g1

Correct Answer :-

* 1 mole of MgCO3 produces 44 g of CO,. / MgCO5 &I Uch UTH 3] CO, & 44 919 FT 007 HRaT B

44) What is the valency of an element with atomic number 10? / URHTU] SHHI® 10 aa TP dcd Dt

TaeredT T 82
1.1
2.3
3.4

4.0

Correct Answer :-

« 0

45) An emulsion is a colloidal system consisting of ./ QHR U aﬁ?ﬁ'gﬁ o % Eli
9 firder a1 81

1. two liquids / & &a

2. two solids / &l 31

3. one liquid and one solid / U &d 3R UH 319
4. one liquid and one gas / Th &d AR w1

Correct Answer :-

« two liquids / Gl &d

46) Which of the following properties are TRUE for canal rays?
(i) Streams of particles which move towards the anode.

(ii) Produce fluorescence.



(iii) Travel in straight lines.

(iv) Consist of very light particles. /

P foovor & IR A Fafafea § 9 o9-94 9 oo 9d &2
(i) PUT BT YaTg, St fF TS $ 3R fewr= g 2|

(i) fardifar =1 fomfor st 21

(iii) T @1 § THA BT B

(iv) §gd §eb DUl A Freres o+t gl 21

L. (i), (ii) and (iii) / (i), (ii) T (iii)

2. (iii) and (iv) / (i) Td (iv)

3. (ii), (iii) and (iv) / (ii), (i) T (iv)

4. (i) and (ii) / (i) T (i)

Correct Answer :-

« (i), (i) and (i) / (i), (ii) T (i)

47) Which one of the following reactions, when carried out, will yield 2,2-dichloropropane? /

frrafafea # @ a8 o1 3t srfufpar 8, 9 &= T 2,2-ST5qaRIu &1 wifey gnfi?

) CH;—CH=CHC + HCl = -—--

, CH:—CH=CH; +HCl 3> —
3. CGH+ 2HCl & —

, CH—C=CH+ 2HCl 3 —

Correct Answer :-

CH:—C=CH+ 2HCl & -

48) A gas can be liquefied under particular conditions of pressure and temperature. Identify the

accurate set of conditions. /Wﬂﬂaﬁ m@mﬁaﬁ ﬁﬁwuﬁ@rﬁnﬂ%maﬁa fomar oI
Toar g1 ulfRufeat & gufy wge & ugarf=|

1. Low temperature, high pressure / 9 dEE, S gle
2. High temperature, low pressure / 3o dTadq, 9 q1d
3. Low temperature, low pressure / % argdM, 9 9

4. High temperature, high pressure / 3= dIUHA, 3= qld

Correct Answer :-



« Low temperature, high pressure / (9% dT9qM, 3= aTd

49) What is the correction term introduced in the van der Waals equation for attractive forces

among gas molecules in a real gas? /Wmﬁﬂ?ﬁ'\qﬁ'ﬁ'\q arqeﬁ%?'q%rawdﬁaﬁ%?ﬁmaﬁ
X ared G H FT SR Ug Wafkd fosar Srar g2

1.nb

2. -nb

3. -an?/ V2

4. + an®/ V?
Correct Answer :-

e +an%/ V2

50) Name the process which happens when a small quantity of acid is added to water. / STd 3+ &1

A1) Y 9 #) e ® frara € ot ufed g9 arelt wftsar &1 919 T
1. Neutralisation / SGTHTIH T
2. Association / TTH

3. lonisation / AT
4. Dimer formation / fgaa fafor (STgHR U'TI'EF‘\TI:I)

Correct Answer :-

¢ lonisation / T4

Topic:- Maths
1) 1f (2 - a) is a root of quadratic equation X*+ax+2-a= 0, then its roots are . 'Qﬁ

oA TR 2 + ax +2- 2= 0PI TS A 2 - 2) 8, T 3TP JA gl

1.0,1



ABCD is a rectangular sheet of paper with AB =42cm and AD =25cm. A semi circular portion with
CD as diameter is cut off. Find the area of the remaining portion of the paper. / ABCD DI 4|
TS MAATHR e 8, T AB=4237} ud Ap=259ft €1 D F =TT ATHR TS g fewan
PIeT STdT 8| BT & 99 §T YT BT &6 F1d R |

1. 268cm? / 2684 HI2

2. 357cm? / 357912

3. 146cm? / 1465H12

4. 214cm? / 21492

Correct Answer :-

e 357cm? / 3579HI12

3 1l+sinx
) 1l 9 gy o g( x), then 9 e) axis equal to At 9 g4y = g0 2,
1l+sinx
?ﬁfg(x}(lﬂm}dx P ST gl
1. g(x)secE+C
sec2®
2.9(x) 24C

X
3.9(x)tan2 + C
& X

4.g(x)(sec5+tan5)+c

Correct Answer :-

x

. g(x)tanE+C

4) Equation of the plane passing through the point (2,3,4) and making equal intercepts on the axes is

./ﬁg(%z,s,@ﬁawgﬂﬁmﬁwaammﬂw,a’ra{&ﬁwwai?r:@i-s
|

CEICIEA

1 x+y+z=3
2lx+3-‘+z=9

3 x+y+z+3=0

4.x+}-‘+z=5

Correct Answer :-

, Xxty+z=9



5) The first 15 even numbers and the first 10 odd numbers are written separately on slips and
mixed well in a box. If a slip is drawn at random. What is the probability that the number on the slip

is an even number? / TUH 15 TH JSATE T YYH 10 FIwq T=ATY, 3rerT-3ren ufiay ur ferdt wht
U4 U g § Y@ae? gt uffa & st ave @ firen forar wan | afe arefosedr @ ve u=if
foreTel wTet 21 9 = witrepar @ o wif W foreht T v 99 "= 22

1. 4/7
2.3/5
3. 1/5

4. 2/7

Correct Answer :-
e« 3/5

6) Which of the following expression contains only like terms? / Frafafaa A 3 fog see A
Fad IS UG 3?2

3p2 + 49%+2r2, 5pq -7qp +12pq, -5p°3 q2-5p3q* - 5p3 q3, 5p + 5q+5r
1. 5p + 5q+5r

2. 5pq -7qp +12pq

3. 3p2 + 4q2+2r2

4. -5p3q?-5p%q+ 5p’q

Correct Answer :-

e 5pq-7qp +12pq

7)
17

In the expansion u::tf(x2 — %:] Jif x7 ¥ pecurin rt temm, thenr = o (xz —i) o GEIOT #,
g F g x# FE arr = Bl

1. 16
2.17
3.18

4.15

Correct Answer :-



If all the permutations of the word INDIA are arranged as in a dictionary, then the 14" word is

./;ﬁW“INmA”%mﬁW,wm%wﬁmﬁtﬁ%’,a‘r 147 37eg
|

1. DAIIN
2. DAINI
3. DANII

4. DNAII

Correct Answer :-

 DAINI

9) What is the 34" term of the sequence 7, 4, 1, .......u.... ?2/3THPH7,4,1, e #1349 Ug
T 22

Correct Answer :-

e -92

10) Number of ways in which 10 letters be posted in 4 letter boxes is . /10 O3 Y 4 I UL

s P! A AT (ARS) & TPl 2l

1, 10

, 10C,
2
5 10
10
44

Correct Answer :-

10*

11) The value of 'k’ for which the system of equations x + 2y = 4 and 5x + ky = 1 has a unique

solutions is . / k" FTqE A g, o fere Tfterur fAemal x + 2y = 4 Wd 5x +
ky = 1 & 3ifgdia ga g

o

k+4



Correct Answer :-

k=10

12 . - . s
) If @ is any vector, then | @ x i 2+ 1axj P+1axk s ¥

afe o U AT &, d laxiP+laxjlR+laxk
Bl

3.1

4.0

Correct Answer :-

13) Find the quotient and the remainder, when X3 +4x2 - 3x + 6 is divided by (x + 1). / ©ld X3+ 4x? -

3x + 6 BI (x + 1) ¥ fauTRIa fFaT SITaT 8, @Y YIThd Ud A9 J1d B |
1.q(x)=x%-2x+4, 1(x) = 16

2.q(x)=x>+3x-6,1(x) = 12

3.9x)=x>+3x+4,1(x) = 12

4. q(x) = x>+ 2x + 6, 1(x) = 16

Correct Answer :-

e qx)=x>+3x-6,1(x)=12



1. A positive integer / Th YaTHD U;UTW
2. A negative integer / U BUTHS JUITH

3. Zero / [
4. One / Uh

Correct Answer :-

» A positive integer / Th YTHD W

15) Vector equation of the line through ( 2, -1 ,1) and parallel to the line whose equations are
x=3 _y+l_ z-2
z L . [ 3 @1 1 Jle JHIH0T J1d $3, St (2, -1,1) W IR

R

TRARTI TP 2 7 -3 gt 3T & Wi 2

F=(2f—j+2k)+a(2i+ 75— 3k)

1.

5 F=(3t—j+2k)+a(2i+ 75— 3k)

3 F=(2i—j+k)+a(3t+ 7] - 3k)

4 F=(2—j+k)+a(2i+ 7j - 3k)

Correct Answer :-

F=(2i—j+k)+a(2i+ 7 - 3k)

16) Find the coordinates of the centroid of a triangle whose vertices are (5, -1), (-3, -2) and (-1, 8). /

I Y & s & e 3ra &3, e @ 5, -1), (3, -2) T (-1, 8) B
1.(2, 1)

2. (173, 5/3)

3.(2/3, 1)

4.(2,-2/5)

Correct Answer :-

. (153, 5/3)
17) 1 i
. =" poextcoex—1 _
lim, g - =
1.2 log?2

2.41log2



B3|

3.
log2
4. 2

18)

sec”1 {cnsec [cut(cnt‘i?)]} =

—_
s

v 1A

3.0

E

Correct Answer :-

b
R 4
19) In sin2d In sin2f
ID PP d3= A= b:"D 15 jll J:} P d3= 3= b:"D
Bl

1.0
) 4

= =
- logy/2

4, None of the above /3_"|'Ef I ﬁg‘:rgﬁ

Correct Answer :-

« 0
20) = =
2tanad . 2tanad . = -
Eva_luate:T + sec64” sin26°. / oy | 560647 sin26” ohl FHe-dlche B
cobzs cobzs

1.1



2.3
3.2

4.6

Correct Answer :-

21) The number of bijective functions from set A to itself when A contains 106 elements is

/AT A P Tbhd! ATBTS Bad I 9T WY & forw g, 5afp A H 106 7 fAfega &1 .

1. 106

!
2. 106°
2106

2106 _ 3
4.

Correct Answer :-

22) The probability of throwing a number less than 4 with a fair dice is ./ TP frreger g

PRI FFIAMA A TN TRT F4 A FA AP Uydar . B
1.1/3
2. 12
3.2/3

4. 3/4

Correct Answer :-

e 172

23)

J""-‘": dx _
0 (x24a%)(x24+b)

T

Zabla+h)

ableth)

2niath)



2mab
(e+h)

Correct Answer :-

T
2abla+h)

24) The ratio in which the YZ plane divides the line segment formed by joining the points

(—2,4,7) and (3,-5,8) ; /a8 S 3, Rt et vz, Rivgol (—2,4,7) Ud (3,-5,8)
3 fram arell Yares &1 AU &ar 21

1.2:3

2.3:2
3.1:3

4, 2:1

Correct Answer :-

x—y 5 3
If =z 0 v isaskew symmetric matrix. thenx +y +z =
-3 -7 D

—y 5 3
afe z} 0 v ﬁ'ﬂﬂ'ﬂﬂﬁﬂ'waﬁx+}f+z= &l

-3 =7 0

26) A restaurant charges 14% service charge and 11% VAT on the basic price of the food items. If
the total bill of your meals is Rs. 6000, what is the VAT you have paid? / Ww, QT yeTuf &
A DT TR 14% T [P Td 11% € TTol el 8| i TP U 3t $d SIAd 6000 9
8, @1 3P gRT YIraT far a1 de fHa-r 82



1.Rs. 110/ 110 90
2. Rs. 440 / 440 T
3. Rs. 528 / 528 QY

4. Rs. 560 / 560 Y

Correct Answer :-

e Rs. 528/ 528 ™Y

¥ (1+x) _
j cos2(xe¥) dx

1. tan(x e¥)+C

2. cot(x e¥) +C
3.sin(x e*) +C

4, cos(x e¥) +C
Correct Answer :-
e tan(x e*)+C

28) A tree is broken in such a way that its top touches the ground at a distance of 15m from the
root. If its top makes an angle of 60° with the ground, then the whole height of the tree (in metres)

is ./ TP & 39 UPR gedl 8, fp 391 2, 39t 1 | 15 Hiex gr yfy & wu=f wwar

'%%lu%maﬂﬁ@%muso“mﬁmm%,a‘fq&raﬂwmaﬁaﬁ)
|

1. 45V3

2. 153
3.30

4. 1502 +V3)

Correct Answer :-

29) The number of terms of the sequence 21, 18, 15, 12, ...... , which must be taken to give a
sum zero is ./ 98 21, 18, 15, 12, ...ccueuuee & Ugl 1 a8 e, ol Ue It R 3 & ferg
forar ST Sraw® B, 3

1. 20



2.15
3. 22

4. 17

Correct Answer :-

e« 15

30) 140’ is the origin, OP= 3with direction ratios proportional to —12-2 , then the coordinates

of P are ./ 9fe "0’ qa &, Safp Rep-arqura ~ 1% ~2 & qurgurdt § sikoP=3 %,
@ P & Fdwie 2l

, 12,2)

2 (_112.1 _2}

(_i - _E)
3’s’ o
3.

4. (315‘1 _g:}

Correct Answer :-

. (-12,-2)

31) If the product of 3 numbers in GP is 125 and the sum of their products taken in pair is 87 %2,
then the second number is . /"IUﬁT'R' é]‘é‘r # d19 J@msi &1 TMUrw A 125 TR QTFN}I
1T T 3T UFTE Al BT AT 87 14 B, A gl & gl

1.5
2.7
3.25

4.10

Correct Answer :-

32) A mall casts a shadow of length 108 m and at the same time a tower in front of it casts a shadow
of length 432meters. If the height of the mall is 36m, what is the height of the tower? / U Tl 108
HY weft Brar 31 i wRar 8, ok St ey SHS " WS U elaR 432 Hl delt St &1
frrafor sar 81 afe Aid &1 s 36 HY €, @) TR $t FHa1s |1 |2

1. 864m / 864HT
2. 288m / 288HI

3. 144m / 144¥1



4. 948 m / 948HY

Correct Answer :-

e 144m/ 1449

33 v
) Principle value of sin™? (smE'3 ) is ./ sin” (sm—) F1 =aH A= Bl

34) dx 5 ) dx 5
IS

The 4th term from the end of the expansion of "5  2x

TR & o @ g ug g

10500

10500

xT

10500x3
3.

4, 10500x

Correct Answer :-

10500
[ ] xs
35 ) - ) |
) Expressmmstmdardfnnn fmﬂﬂ?mﬁmﬂ#_ﬂﬂﬂ'ﬁ

—2i) (Z2—2i)



71+ 19
4

71 —19§

T0+81i

70-19¢

70+81i
4

Correct Answer :-

T1 + 19§
4

36)
If (& +b) L band (@ + 2b) L 4. then & is equal to I WE(@+b)LbUE(@+2b) 1 a &, d

-3

ot & aE Bl

37) The value of 5in 80 cos 20 — cos80 s5in 20 =

sin 80 cos 20 — cos 80 sin 20 T AT %W%I

b3



.

=

4.1

Correct Answer :-

(]

38
) J"E—lngx dx =

_plegx +

X 08X +C
2.

3.loglx I +C

4. None of the above /E:Iﬁ I m :@)f

Correct Answer :-

e loglx [+C

39) 2 &b

=
The angle between vectors @ whose scalar and vector product having magnitude 5Y 3
5 =
and 15, respectively is equal to ./ a2 &0 ¥ g g wo, R ol vd wfdw
'I_ . qQ
TUFwE H9: 5V ° Td 15 uRmEmr 9§ ¥ SRTER BT B

o

1.45

o

2. 15

o

3.30

o

4. 60

Correct Answer :-

o

e 60

40)
Find the value of “x’, if the points (x, 4), (2, —6), (5,4) are collinear./ AT iéu—q T (x,4), (2, —6),(5,4)

@ &, df %' & #A A FiraT)



1.5
2.2
3.4

4.3

Correct Answer :-

41) The length and breadth of a parallelogram are 6cm and 4cm, respectively. Find the area (in
cmz) of the parallelogram if one of its angles is 45°. / T HHIAR T’-Iﬂ";l\_rl' G| ?Iﬁ'lg Td ?a_é'o'l_ﬁﬁ HHX:
62! Td 477 81 afe sHBT TH HI07 45° B, ) FHIGR g &1 eama@H ®) 3rd e

Correct Answer :-

1242

42) #m1_ytl
Perpendicular distance of the point (1, 0, 0) from the line 2 -3 E is i
x=1 y+1  =+10

¥ar 2 -3 & Afig (1, 0,0) F g gt 2

1. V86

43) a &b (having same magnitude)

Find the magnitude of two vectors such that angle between

1

them is °0" and their scalar product is 2. / & |fe= awgﬁllqmmﬁ (R ufvamr gu=
¥) Jaf 379 dta 13 aren w007 sk 3T iy uEwe 2 21

1.1



2.2
3.5

4.3

Correct Answer :-

44) A dice is thrown 100 times. Getting an even number is considered a success. The variance of
the number of successes is ./ D U B 100 TR Wbl AT JH T=AT BT UTd '@7'“
HoadT AT T | @ T 19 aTell Al erdT 1 H&AT BT IR0 g

1. 25
2.50
3.72

4. 100

Correct Answer :-

e 25

45) A spherical ball of radius 9cm is melted and recast into 3 spherical balls. If the radii of the two
of the balls are 1cm and 6cm, then the diameter of the third ball is .19 ﬁtﬁ frear areft U
AR g o fraare 3 MR del # erar a1 afe §f Al @ Brear 133 vd o3+ &, @
TR g &1 T gl

1. l4cm / 1494t
2. 16¢cm / 169HY
3. 18cm / 18THY

4. 10cm / 1098

Correct Answer :-

e l6cm/ 1699

46) The sum of the ages of a mother and her son is 46 years. 4 years ago if the product of their ages
(in years) was 136, then the present age of mother is ./ TP HI 3R I A L] ST I AR
46 a9 g1 TfE 4 af qd ISP Mg @ ) BT UFGA 136 AT, A Wi Bt IAA Mg gl

1.32
2. 40
3.34

4. 38



Correct Answer :-
« 38

47) The sum of two numbers is 40. If one number is 1/7of the larger number, the numbers are
./ QY T3 BT TN 40 B1 S U R TS R T 1/78, MESME 3R
I

1.33and 7/33 3R 7
2.28 and 7/28 3R 7
3.40 and 0 /40 3R 0

4.35and 5/35 3R 5

Correct Answer :-
« 35and5/35 35

48) From the top of an electric post, two wires are stretched to either side and fixed to the ground,
16m apart. The wires make angles of 60° and 30° with the ground. Find the height of the post in

meters. / T fagaq wH & 2/, § IR 31 Y 79 a1fra o M v 16+ @ YT
R ford T8 | R, Y & 1Y 60° TF 30° BT BT T &1 TH DI ST Hiex & J1d B

1. 16V2

2.4V3

3. 12

4.3V3

Correct Answer :-

V3

2h2x — abe is ./ 98UG p(x) =

49) The sum of the zeros of the polynomial p(x) = abx? + cx —a

abx? + cx — a?b?x — abe & XN T TIT gl

1.C




Correct Answer :-

aZb?—¢
ab

50) .« [3—2x x+'l]

(]
The value of * for which the matrix - 2 4

[3—2x x+1]
a_ g ReefRmemgg! 2 % 1 sragepyoiy B1
-1

is singular is ) X DTIdE

1.

2.0

3.2

4.1

Correct Answer :-



